www.rcin.org.pl



PROF. CAYLEY, ON WARING'S FORMULA, 133

The commoun eighth point of intersection, if it exists,
must be

(4, B, C); (4, @, B), (B, B, P), (C, P, Q);
(£, B, C), (& C, 4), (R, 4, B); or (P, , R).

There is no point (4, B, C). ;

There is no point (4, @, R), for @, R intersect only in
the points 1, 2, 3, 4, no one of which lies on 4 ; and similarly
there is no point (B, B, P) or (C, P, Q).

B, C intersect in 5 which is a point on P, and thus 5 is
the only point (P, B, C). Similarly 6 is the only point
(@, C, 4) and 7 is the only point (R, 4, B).

P, @, intersect in 1, 2, 3, 4, which are each of them on R;
hence 1, 2, 3, 4 are the only points (P, @, R).

Hence the points 1, 2, 3, 4, 5, 6, 7 present themselves
each once, and only once, among the interseetions of the three
cubics, and there is no common eighth point of intersection,

ON WARING'S FORMULA FOR THE SUM OF THE
mth POWERS OF THE ROOTS OF AN EQUATION.

By Prof. Cayley.
THE formula in question, Prob. I. of Waring’s Meditationes

Algebraice, Cambridge, 1782, making therein a slight change
of notation, is as follows: viz. the equation being

Z"+ 0"+ ox" 7 + da" +...=0,
then we have
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